TREX TRANSCEND SERIES RAILING ASSEMBLY DETAIL

TREX”

i
1 - 2" NAIL (16 Ga.) EACH SIDE
TOP & BOTTOM

5" MAX.
. 'y TREX HANDRAIL
e = — — — — —
= =
o
o > — =
t = 8 1- 2" NAIL (16 Ga.) 8
© T O [ - EACH SIDE TOP & BTM. o
< @ = %) =
“mx < o <
e 5 .
o /E/ TREX BTM. RAIL
= 2
2 -1/2" ¢ BOLTS
c/w NUT & WASHERS
/
-z~ - — — — —— - —— — - - T T T T T —7/’_ —— Eﬁ
AR ll Il Il d A AN
]
e 5] T|l il il
~ n
! i [ 11 -
. 3" RIMJOISTS 2 x 8
i 16" MAX. gn 16" 16" ! i
- T MA 1= _’|" OR LARGER
. MAX. POST SPACING =6'-0" L 31/2" POST
TREX RAILING SUPPORT BRACKET (RSB) - TYP. 4 LOCATIONS
FASTEN TO POST WITH 2 - #9 X 1 5/8" DECK SCREWS
FASTEN TO RAILING WITH 2 - #9 X 1 5/8" DECK SCREWS
BLOCKING FO ST SUPPORT
HARDWARE PROVIDED WITH RSB 2 x BLOCKING FOR POST SUPPOR
NOTES:
1. Consult your local building codes for approval prior to construction.
2. This rail system is to be used only for single and multiple family dwellings, three (3) stories or less in height conforming to OBC 2012/NBCC 2010 Part 9 buildings.
3. RAILPOST shall be either a TREX RAILPOST or a 4x4 Pressure Treated Post #2 or btr. ¢/w a TREX 4x4 Post Sleve.
4. DO NOT notch posts.
5. Hot Dipped Galvanized or otherwise protective coated fasteners shall be used.
6. TREX RAILPOST/4x4 P.T. Post & Sleve detail above satisfies the 225 Ib. or 50 PLF horizontal load requirements of the OBC 2012/NBCC 2010 for guards.
DWG EXPIRES: DEC 31, 2020 WEL2007-SK1 of 8




i
y C/\ ',$
LLAfTIiNGToR \ 0 TREX TRANSCEND SERIES RAILING ASSEMBLY DETAIL
MEMBER 10405 N

\ONAL .6\\
ﬁ‘w @

PLACE BALUSTERS INTO TREX
BALUSTER SPACER

i ? . FRUD
TREX 1 3/8" SQUARE / COLONIAL BALUSTERS

TOP/BOTTOM (SEE SK-4 FOR 3/4" BALUSTERS)
m 5" MAX. ﬁ m
| —— 1 —r—
e - o
\—-TREX TRANSCEND TOP RAIL
! : ! c/w TRACK FOR SNAP-IN
s = b BALUSTER SPACER
<C
O . g INSTALL ADJUSTABLE L HOQTE 7R
o e | Z| TREX TRANSCEND L9
B % o g x| | |~FOOT BLOCK c/w BASE =
w80 = P PLATE AND 3 SCREWS =
£ || Pt . NOTE 7 .
X0 e TREX TRANSCEND UNIVERSAL
se Pt T /  BOTTOM RAIL
B e MUIT 8 TS RS c/w TRACK FOR SNAP-IN
' /// | b ' BALUSTER SPACER
I ———————————— e p— [fj| /W SEAT FORFOOT BLOCK
NOTE 7.8
2] [} H-‘/ vl S B ral M
U : 4 T
T &1 111 1] I
TP Fo L ¢ i
3" RIMJOISTS 2 x 8
. b 3.0"MAX. 3o ] __J,_
- o OR LARGER
MAX. POST SPACING =6'-0 L31/2" POST
TREX RAILING SUPPORT BRACKET (RSB) - TYP. 4 LOCATIONS
. FASTEN TO POST WITH 2 - #9 X 1 5/8" DECK SCREWS
FASTEN TO RAILING WITH 2 - #9 X 1 5/8" DECK SCREWS 2 x BLOCKING FOR POST SUPPORT
NOTES: HARDWARE PROVIDED WITH RSB

ONOD A W®N

. Consult your local building codes for approval prior to construction.
. This rail system is to be used only for single and multiple family dwellings, three (3) stories or less in height conforming to OBC 2012/NBCC 2010 Part 9 buildings.
. RAILPOST shall be either a TREX RAILPOST or a 4x4 Pressure Treated Post #2 or btr. c/w a TREX 4x4 Post Sleve.

DO NOT notch posts.
Hot Dipped Galvanized or otherwise protective coated fasteners shall be used.

DWG EXPIRES: DEC 31, 2020

. TREX RAILPOST/4x4 P.T. Post & Sleve detail above satisfies the 225 Ib. or 50 PLF horizontal load requirements of the OBC 2012/NBCC 2010 for guards.
. Review '2014 Trex Decking & Railing Installation Guide' for additional manufacturer's instructions.
. Use correct baluster spacer for option selected.

WEL2007-SK2 of 8




3'.6"

EX TRANSCEND SERIES RAILING ASSEMBLY DETAIL
~'(
/‘\
dumineTon | .
—- =y ) i
S o
/1_‘ “a l 5
o o~
PLACE BALUSTERS INTO TREX EX 34"¢ CONTEMf"’ORARY BALUSTERS
/7 BALUSTER SPACER TOP/BOTIOM , 1 1ou pax (SEE SK-3 FOR 1 3/8" BALUSTERS)
- J - _ __ _ __ _— _— I — = —
\—TREX TRANSCEND TOP RAIL
! ! ! ¢/w TRACK FOR SNAP-IN
== '(7, BALUSTER SPACER
<
O |_ o INSTALL ADJUSTABLE b NOTE 7.8
L g 31 <=(' ! TREX TRANSCEND ! 8
Eo 2 x| | |~ FOOT BLOCK c/w BASE 5
or = L PLATE AND 3 SCREWS <
W X < 1% o
T 8 o : L . NOTE 7 .
:é 8] // TREX TRANSCEND UNIVERSAL
s 8 1> . BOTTOM RAIL
L1 2/' NZUT"’&BSVLATSSHEHS c/w TRACK FOR SNAP-IN
' e ' < ' BALUSTER SPACER
M
c/w SEAT FOR FOOT BLOCK
e e e e e —_— i
= ~ NOTE 7,8
oy "H/ £ / g £ N
. y R | W
@ | n 1L
~
h %}——+ | Lt | AV
3" RIMJOISTS 2 x 8
= H— 3'-0" MAX. 30" — -
= OR LARGER
MAX. POST SPACING =6'-0" . 312POST
TREX RAILING SUPPORT BRACKET (RSB) - TYP. 4 LOCATIONS
FASTEN TO POST WITH 2 - #9 X 1 5/8" DECK SCREWS
FASTEN TO RAILING WITH 2 - #9 X 1 5/8" DECK SCREWS 2 x BLOCKING FOR POST SUPPORT
HARDWARE PROVIDED WITH RSB
NOTES:
1. Consult your local building codes for approval prior to construction.
2. This rail system is to be used only for single and multiple family dwellings, three (3) stories or less in height confarming to OBC 2012/NBCC 2010 Part 9 buildings.
3. RAILPOST shall be either a TREX RAILPOST or a 4x4 Pressure Treated Post #2 or btr. c/w a TREX 4x4 Post Sleve.
4. DO NOT notch posts.
5. Hot Dipped Galvanized or otherwise protective coated fasteners shall be used.
6. TREX RAILPOST/4x4 P.T. Post & Sleve detail above satisfies the 225 |b. or 50 PLF horizontal load requirements of the OBC 2012/NBCC 2010 for guards.
7. Review '2014 Trex Decking & Railing Installation Guide' for additional manufacturer's instructions.
8. Use correct baluster spacer for option selected.
DWG EXPIRES: DEC 31, 2020 WEL2007-SK3 of 8




l.

WHITTINGTON

R 15
X GLASS SPACER
INSERT TOP & BTM.

¥TREX TRANSCEND TOP RAIL
' c/w GLASS SPACER INSERT
= T - b & WEATHER STRIPPING
< s -
O o o INSTALL ADJUSTABLE SRR U
E a % / - =
2 @l . . 2 TREX TRANSCEND e
o % o 5 >< . @| | | ~TFOOT BLOGK c/w BASE o
» 9 = = PLATE AND 3 SCREWS 2
x 0
‘2’: o ” /
= TREX TRANSCEND BTM RAIL
e 2-1/2" 9 BOLTS
| . S I 5 WRGHERS I'|/ c/w GLASS SPAGER INSERT
& WEATHER STRIPPING
e ————— [ﬁf SEE NOTE 7,8
el Y L Y
I : o
« & ] 1]l I
4 tt Lt =
3" RIMJOISTS 2 x 8
4 . HOMAX. 3-0" Jk
- . OR LARGER
MAX. POST SPACING =6'-0 L 312POST
TREX RAILING SUPPORT BRACKET (RSB) - TYP. 4 LOCATIONS
FASTEN TO POST WITH 2 - #9 X 1 5/8" DECK SCREWS
‘ FASTEN TO RAILING WITH 2 - #9 X 1 5/8" DECK SCREWS
NOTES:

. Consult your local building codes for approval prior to construction.

. This rail system is to be used only for single and multiple family dwellings, three (3) stories or less in height conforming to OBC 2012/NBCC 2010 Part 9 buildings.
. RAILPOST shall be either a TREX RAILPOST or a 4x4 Pressure Treated Post #2 or btr. c/w a TREX 4x4 Post Sleve.

DO NOT notch posts.

. Hot Dipped Galvanized or otherwise protective coated fasteners shall be used.

. TREX RAILPOST/4x4 P.T. Post & Sleve detail above satisfies the 225 Ib. or 50 PLF horizontal load requirements of the OBC 2012/NBCC 2010 for guards.

. Review '2014 Trex Decking & Railing Installation Guide' for additional manufacturer's instructions.

. Use correct baluster spacer for option selected.

ONO A WN =

DWG EXPIRES: DEC 31, 2020 WEL2007-SK4 of 8




“\\\
 as/

TREX SIGNATURE ALUMINUM SERIES RAILING: POST TO POST DETAIL

TREX =2

- TN
OF Mg,

- \WH:TL INGTON
[

o? <X
& z EAGAELS
Q £ m f
S . L Whittington 3 X

MAX. TREX 34" SQUARE BALUSTERS ’
N e
1
= ~Hi i
w
o TREX REVEAL
i = ! AL. TOP RAIL
T~ o NOTE 7
=z @D >
o) < (o] w
T o o [in
L 2 - > 1
I = i I~
ez = = 3
n"nOF L o
¥¥
>
xo oW, : '
<o £ 1-#8-18 X 34"
= | | HH—PAN-HEAD
| H] SELF DRILLING SS TREX REVEAL
: | 'l 188 ! Sngan;‘T. RAIL
F e e e e e e i 300 SERIES SCREW
k P immin n_—7 P imminy 1\
i
/)
40" T \
MAX. POST SPACING =8'-0" 4- 38" DIA. LAG
: BOLTS OR
TREX RAILING SUPPORT BRACKET #55441/55443(RSB) - TYP. 4 LOCATIONS CARRIAGE BOLTS
FASTEN TO POST WITH 2 - #10 X 5/8" PAN-HEAD, SELF DRILLING 18-8 SS SCREWS BY TREX
NOTES: HARDWARE PROVIDED BY TREX 2 x BLOCKING FOR POST SUPPORT

1. Consult your local building codes for approval prior to construction.

2. This rail system is to be used only for single and multiple family dwellings, three (3) stories or less in height conforming to OBC 2012/NBCC 2010 Part 9 buildings.

3. Structural POST shall be a TREX REVEAL POST (2"x2"x 0.09" wall extruded 6005-T5 aluminum post), ¢/w manufacturer welded base plate (3 7/8"x3 7/8"x 3/8" Thk.), c/w
TREX shim.

4. DO NOT notch posts. Posts to be installed w/ screw line of base plate parallel to rail. Shim plates must be used with all structural posts.

5. Stainless Steel fasteners shall be used.

6. TREX RAILPOST/4x4 P.T. Post & Sleve detail above satisfies the225 Ib. or 50 PLF horizontal load requirements of the OBC 2012/NBCC 2010 for guards.

7. Review '2014 Trex Decking & Railing Installation Guide' for additional manufacturer's instructions.

DWG EXPIRES: DEC 31, 2020 WEL2007-SK5 of 8




